
PACK P/M
1 Left Headboard Leg (w/Pins)(L=1198mm) B376-82 R35627 Wood 1 K M
2 Right Headboard Leg (w/Pins)(L=1198mm) B376-82 R35628 Wood 1 K M
3 Left Footboard Leg (w/Pins)(L=672) B376-82 R35629 Wood 1 K M
4 Right Footboard Leg (w/Pins)(L=672) B376-82 R35630 Wood 1 K M
5 Side Rail (w/Hooks) B376-97 R35144 Wood+Metal 2 K M
5 Side Rail(w/Cap Rail+Hooks) B376-94 R35640 Wood+Metal 2 K M
6 Hooks #1 B376-94/97 R49177 Metal 2 G P
7 Hooks #2 B376-94/97 R49178 Metal 2 G P
8 Center Leg (L=200mm)(w/Leveler) B376-94/97 R35637 Wood 3 F M
9 Adjustable Leveler B376-94/97 R35638 Plastic + Metal 6 G P
10 Cross Slat (w/1 Center Leg Hole) B376-94/97 R55388 Wood 3 F M
11 D-Nut (M6 x15mm) B376-82 R35634 Metal 12 G P

12 Hardware Pack B376-82 R35635

M6 x 35mm Bolt (12)
M6 x 13mm Flat Washer (4)
M6 x 19mm Flat Washer (8)

M6  Lock Washer (12)
Allen Wrench (1) 
Wood Plug (4)

1 G P

13 Screw Pack B376-94/97 R35636 #4x32mm Screw (6) 1 G P
14 T-Nut (M6 x 10mm) B376-94/97 R44184 Metal 3 G P

MRP# FOB $

Signature Design by Ashley® September-12

MATERIAL

All Rights Reserved. Page 1 Of 1

MODEL #: B376-82,94,97
FACTORY USE ONLY!!

REPLACEMENT PART DESCRIPTION FORM

PART# DESCRIPTION USED ON: QTY.

1

5

29

7

6

8

4
3

11

10

14


